Differential Equation Board Question 2017

- - Solve the differential equation $(\tan^{-1} x y) dx = (1 + x^2) dy$. 2017, 4 Marks

For Video Lectures

Find the particular solution of the differential equation $(x-y)\frac{dy}{dx} = (x+2y)$, given that y=0 when x=1.

2017, 6 Marks

Solve the differential equation $(\tan^{-1} x - y) dx = (1 + x^2) dy$.

$$\frac{dy}{dx} + \frac{y}{1+x^2} = \frac{\tan^2 x}{1+x^2}$$

$$I.f = e^{\int R dx}$$

$$= e^{\int \frac{1}{1+x^2} dx} = e^{\int \frac{1}{1+x^2} dx}$$

$$= e^{\int_{-\pi}^{\pi} dx} = \left[\frac{\tan^{2}x}{\cot^{2}x} \right]$$

Solution $y(e^{tan^{2}x}) = \int \left(\frac{tan^{2}x}{Hx^{2}}\right) \left(e^{tan^{2}x}\right) dx + C$

Put t=tan2

$$y(e^{tan^{1}x}) = \int \frac{t}{(t+x^{2})} dt + C$$

$$= \int t \cdot e^{t} dt + C$$

= t.et_ (1.et dt + C

$$y(e^{tan'x}) = te^{t} - e^{t} + C$$

$$y(e^{tan'x}) = (tan'x - 1)e^{tan'x} + C$$

$$y = \tan^{-1} x - 1 + \cot^{-1} x$$

 $\frac{dy}{dx} + \frac{y}{1+x^2} = \frac{\tan^2 x}{1+x^2} \sqrt{\frac{dy}{dx} + Py} = Q$ On Comparing $P = \frac{1}{1+x^2}, Q = \frac{\tan^2 x}{1+x^2}$ $T.f = e^{\int \frac{1}{1+x^2} dx} = e^{\int \frac{1}{1$

ILATE

2017 , 6 Marks Find the particular solution of the differential equation $(x-y) \frac{dy}{dx} = (x+2y)$, given that y=0 when x=1. Homogeneous form $\frac{dy}{dx} = \frac{x+2y}{x-y}$ Put y=VX Lis conversed into Variable Separable form. Let y=VZV dy = V+2dV dx = V+2dV Puty this value in the egi $V+\chi\frac{dV}{dx}=\frac{\chi+2(V\chi)}{\chi-(V\chi)}=\frac{1+2V}{1-V}$ $2 \frac{dv}{dx} = \frac{1+2v}{1-v} - v = \frac{1+2v-v+v^2}{1-v} = \left(\frac{v^2+v+1}{1-v}\right)$ 1-V dV = \frac{1}{2} dx
\[
\frac{1-V}{V^2+V+1} \text{ Sides}
\]
\[
\text{Nteg-sating both Sides} $\int \frac{1-V}{V^2+V+1} dV = \int \frac{1}{\lambda} d\lambda$ Now do integration (many ways this is ove of them) $= -\frac{1}{2} \int \frac{|2V+1|-3}{|V^2+V+1|} dV = \int \frac{1}{2} dx$ $\Rightarrow -\frac{1}{2} \int \frac{2V+1}{V^2+V+1} dV + \frac{3}{2} \int \frac{1}{V^2+V+1} dx = \int \frac{1}{2} dx$ Let t= V2+V+1 $\frac{dy}{dx} = \frac{1}{2x^{4}} \frac{dx}{dx} + \frac{3}{2} \int \frac{1}{(x+1)^{2}} \frac{dx}{(x+1)^{2}} dx = \frac{\log|x| + C}{2x^{4}}$ dt = 21+1 $= -\frac{1}{2} \log \left| \frac{y^2}{x^2} + \frac{y}{x} + 1 \right| + \sqrt{3} \tan^{-1} \left(\frac{2 + 1}{\sqrt{3}} \right) = \log |x| + C$

Now we have y=0 when x=1Put this value in the solution $-\frac{1}{2}\log\left|\frac{0}{12}+\frac{0}{1}+1\right|+\sqrt{3}\tan^{-1}\left(\frac{2x^{0}+1}{\sqrt{3}}\right)=\log\left|1\right|+C$ $-\frac{1}{2}\log\left|\frac{0}{12}+\frac{0}{1}+1\right|+\sqrt{3}\tan^{-1}\left(\frac{2x^{0}+1}{\sqrt{3}}\right)=\log\left|1\right|+C$ $C=\sqrt{3}\tan^{-1}\left(\frac{1}{\sqrt{3}}\right)=0+C$ Solution (Particular) $-\frac{1}{2}\log\left|\frac{y^{2}}{x^{2}}+\frac{y}{x}+1\right|+\sqrt{3}\tan^{-1}\left(\frac{2y}{x}+1\right)=\log\left|x\right|+\sqrt{3}\tan^{-1}\left(\frac{y}{\sqrt{3}}\right)$ $+\frac{1}{2}\log\left|\frac{y^{2}}{x^{2}}+\frac{y}{x}+1\right|+\sqrt{3}\tan^{-1}\left(\frac{2y}{x}+1\right)=\log\left|x\right|+\sqrt{3}\tan^{-1}\left(\frac{y}{\sqrt{3}}\right)$ And